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Time : 3 hours Max. Marks : 150
Instructions for candidates :

1. This question paper is in two parts.

2. Part - T is related to Reasoning Test which
consists of 30 questions.

3. Part - II relates to Scholastic Aptitude Test
which consists of 120 questions relating to six

subjects listed below :

1)  Mathematics : 30
i1)  Science : 30
i) Social Studies : 30
iv)  Punjabi : 10
v)  English : 10
vi) Hindi : 10

4. Each question carries one mark. All questions
are compulsory.

5. You have been provided an answer sheet
(OMR) for this question booklet. Darken the
circle of correct option of each question in the
answer sheet (OMR) with black/blue ball pen.

6. Rough work may be done on the blank space
provided for this purpose.

7. Thereis no negative marking in this test.

8. Donotuse white fluid on Answer Sheet (OMR).

AHT:3ufe I : 150

Eite=Tar et gerfeat:

fes s usgegar fead |

UfasT 9791 39 HarzT &% AEU3 7, fam feg
30 URS TS |

gd 99T feg fefidt & Gogr &% AUz
fors ganme & fefmit € 120 yas I5 |

1 Jfez : 30
2 Afew : 30
3. mvfAd fefarrs 30
4. UqArdt : 10
5. Wdieet : 10
6 fa<t : 10

IIT YAS T eI Wd J | A9 YAS Agal 95 |

G g fadt areait 1 €739 mie (& »wd
) feT s e Adt €39 € 38 § T8 /318
TF U5 &% IId SIAG |
ForoHfetat st g IS AT AT T |
fen yifunr fe9 faeana (&difex) Hrafdar
SATT |

& 3arte (& 7. 9. Bug =eie efals &t
I SIS A= |
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PART - 1 (REASONING)

fsgem (YAs 1-3) :

It fa3 ymst &9 839 A,B,C 3 D AHfAT
fa39 a5 i3 (1),(2),(3) M3 (4) €33 fo39
g5 1fg3T An3 B AT At AEu 3, @A g =r
Rau f939 ¢ »3 D &9 refus a9s &t 3

Directions (Questions 1-3) :

Each of the following question constitute A,B,C
and D as problem figure while (1),(2),(3) and (4)
constitute answer figure. There is a definite
relationship between figure A and B. Establish a
similar relationship between figure C and D by
choosing a suitable answer figure.

Problem Figure

A

A B

?

| S

D

Answer Figures

fezg e a9
1. A I fg39
A B C D
839 fg39
(1) 2 (4)
AHf fg39

A B D
CECBCES)
O @
(1) (2) (4)
AT 939

o
o
9

O

A B c D
859 fose
OO0
(1) (2 (3 4

L

il

n

(1

)

Problem Figure

3)

0O ?
OO OO
(1) (2 3 4

Problem Figure

@

S

A

Answer Figures

* 1O

O

O

O

(1)

(2

3)

4

fsgem (YAs 4-5) :
It o3 o9x yms €9 B39 (X) ® ust € At

s [ [ [

(1) (2 3) 4

1

Directions (Questions 4-5) :
In each of the following questions choose the
correct water image of figure (X) from given
alternatives:

b e o2
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@ (@ (B &2
(1) (2 (3) 4

6. I fou AEEt  HITAH JH MigH™I F9:

1. Divide 2. Devine

3. Divest 4. Direct

5. Divisions

(1) 2,4,1,5,3 (2) 2,4,1,3,5

(3) 2,4,3,1,5 (4) 3,5,4,1,2
fsgem (YA 7-8) :

J5t &3 yrst 39 ao3/2u9 nia 7t ym €1 €3
feamut feg* ST a9:

7. (1) EHG (2) JML
(3) PSR (4) UYX
8. (1) 353 (2) 234
(3) 123 (4) 456

9. €n fg39 &t 9= a9 1 THl, 3FT w3 Ae=It

(3) (4)

1) (2)
¥ difentt T wnifesst @9 wigu3 64:729
T 18Txt ¥ u3Tent fET niguT3 &t JRar?
(1) 47 (2) 16:81
(3) 9:16 (4) 2:3

10.

11. w79 #13 dg 3 f¥x fos ufost metera At 3
8T T8 dg 3 amiE X fes J2ar?
(1) dued (2) n3T9

(3) RHET 4) Haweg

2

£
) (D) (D)
@B (B (D) (&
(1) (2) (3) (4)
6. Arrange the following words as per dictionary
order:
1. Divide 2. Devine
3. Divest 4, Direct
5. Divisions
(1) 24153 (2) 241,35
(3) 24315 (4) 3,54,1,2

Directions(Questions 7-8) :
Find the wrong/odd number or term from the given

options:
I (1) EHG (2) JML
3) PSR (4) uUYXx
8 (1) 353 (2) 234
@ 123 (4 456
9. Identify the diagram that best represents the

relationship among Elephants, Wolves, Animals.

(3) (4)

(1) (2)
10. The ratio of volume of two Spheres is 64:729. What
is the ratio in their areas?
(1 47 2 16:81
3) 9:16 4) 2:3
1. If the day before yesterday was Saturday, What will
be the day after tomorrow?
(1 Wednesday (2) Sunday
(3) Monday 4) Tuesday
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12. €n fg39 &t 9= &9 # f3ast, 99 A= &

13.

14.

foset »3 =991 <9 Aol Agu g Tor8er 3=
©o W ©) ¥

O
(1 (2 3 4)

f€x 12 AH 37" =& WT § 3 AH 37" T8 8¢

Wt fEg des 3 o fds W= g=aar?
(1) 4 (2) 16
(3) 36 (4) 64

YsHs mUE we 3° 15 fadies €39 fem <o
At 71 feg 89 ¥¥ uz & 8 famtes gt

J17= 8oy wa 3 33 fadhiles g9 37
(1) 7fa®fteg (2) 17fa@Heg
(3) 21fa@Htes (4) 23fameg

fsgem (Yyas 15-16) :

15.

16.

Jot fifs 9 yms Re fisT () TBus sarg
&3 43 nigA™ 395 BEt &3 arE feawut £8°

A feamy @ S &9
?
(%)
e
(1) (73] 3) 4)
?
(x)
(1) ()] (3) 4

12.

13.

14,

Identify the diagram that best represents the
relationship among Triangles, Four-sided figures
and Square.

©0 M© ¥
(1) (2) 3) (4)

Acube of aside 12cm s cutinto small cubes of side
3cm. How many small cubes can be formed?

1y 4 2 16
3) 36 @4 64

Prabhjot walks from her house 15km toward North,
then she turns left and walks 8km. Now how much
she s farfrom her house.

(1) Tkm 2 17km
3)  21km 4)  23km

Directions (Questions 15-16) :

15.

In each of the following questions complete the
missing portion of figure (X) according to the given
pattern by selecting correct option from the given
alternatives:

?
0
prd
m @ @ @
?
0
) @ @ @
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17.

18.

It €3 yms fSo wst <t fas3t a9

yu

(1) 85 2 90
(3) 89 (4) 81

Ao ‘T’ ‘ust’ 3, ‘ust ‘Az’ T, ‘AsS’
cm‘-‘ ’ %., cm“ > ‘HI"’FDI"T:')" %,

2

‘YITAHTS

e Toammt?
(1) A= (2) IHIT
(3) uret (4) d9E%

fosgem (YAs 19-20)

I3 &3 fo39 g AHS & Io €3 yms © €37
feg:

Afit 3a SN 7 [ B A
0\
8 12 5 13
B 14
|

19.

20.

11
[ % —uF feu B
TIAET IS |

(1) 10 (2) 4
(3) 11 4) 9

f&s ‘mfadt &x°, &7 3T ‘B A=K’ TS, &T I
‘I fou B’ TE S &I ‘UIH’ IS5?

(1 3 (2) 5

(3) 6 4) 10

4

17.

18.

Infollowing question count number of cubes:

.

(1) 8 2 90
(3) 89 4) 81

If the ‘rain’ is ‘water’, ‘water’ is ‘road’, ‘road’ is
‘cloud’, ‘cloud’is ‘sky’, ‘sky’ is ‘sea’, ‘sea’ is ‘path’,

thenwhere do cars move?
W) Road 2) Path
(3) Water (4) Cloud

Directions (Questions 19-20)

19.

20.

Urban People 3 7
iy
&

Understand the given figure and answer the
following questions:

——

~—— Public sarvanta

12 13

B
— Maleos

2 14
| 14

! 2 \_\—" Educated People

In the given figure, Rectangle represents '‘Males',
Circle represents 'Urban People', Square represents

'Public Servants' and Triangle represents 'Educated
People'.

How many 'educated people' are not 'urban
people'?

(1 10 (2) 4

(3) 1" (4) 9

What is the number of 'Urban People’, who are
neither 'public servants' nor ‘educated people' and
'males'?

(1) 3 (2) o

(3) 6 (4) 10
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fogem (YyAs 21-23) :

Directions (Questions 21-23) :

It i3 ymst &g fEa nia/miye &1 fast arst There is a number/letter series, which follows a
3, 7 fx f¥x Uegs &9 7187 Uzas & fimrs pattern. Follow the similar pattern and find out the
oy asHAIuTT a9 E.é:" AR gg% & 5= correct answer from the given options to complete
=3 ° T i} the series:

21. PMT,NOS,LQR,JSQ,

21, PMT,NOS, LQR, JSQ, ........

(1) HUP (2) GUP (1) HUP 2)  GUP
(3) KVR (4) WP 3) KW 4 WP
22. 31,37,41,43,47,53,..... 22, 31,37,41,43,47,53......
(1) 55 (2) 57 (1) 55 2) 57
(3) 59 4) 63 3) 59 4 63
23. 94,36,18, ...... . 23. 94,36,18, ........
(1) 5 (2) 6 1 5 2 6
3) 8 4) 12 (3) 8 (4) 12
24. BUI AT UITHS: 24.  Findthe missing term:
12 116 | 12 12 116 | 12
22 | 28 | 64 22 | 28 | 64
44 |16 | ? 44 |16 | 2
(1) 96 (2) 120 (1) 9% 2 120
(3) 132 (4) 144 @) 132 (4) 144
25. BUSHAMrUITHS: 25. Find the missing term:
5 1 5 1
3 3
1n 11
(1) 36 (2) 8 (1) 36 (2) 8
(3) 125 4) 216 3) 125 4) 216

5
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fooem (YAs 26-27) :

26.

27.

28.

29.

30.

I3 o TEaT § fms 576 U »iS yis 26 »i3
27 ¥ 839 feB:-

i.  AMS B fIEt mi3 niagwt U T TS|

ii. CM3 B FAS NS i UFET I |

ii. D3 AfIE w3 forgug BT I5|

iv. En3BfoRedt nis dast ug 8T a5

ug8erI?
(1) A (2) B
(3) C (4) D

I5?
(1) Am3B
(3) Cm3D

(2) Cni3B
(4) AM3ID

wis<t BE S5 o 39 fefenradt g5 13fos =
St f&9 €usd U 3° 18 = 359 91689 At
fSe s U R I s AESs 3 T

(1) 18 (2) 22

(3) 32 4 19

A9 1 AG=St 2008 § AWETS A, 3T 31 THES
2008 3 fxgs fes I=ar?

(1) AHed (2) gued

(3) Has=g (4) HIITI

wFt ot gEort 3:30 =W A3 fsardt = a=
FTEET I |
(1) 40"
(3) 60"

2) 30°
4) 75

6

Directions (Questions 26-27) :

26.

28.

#9¢

30.

Read the given sentences carefully and answer the
question no. 26 & 27:

i. Aand B teaches Hindi and English.

ii. C and B teaches Geography and English.
ii. DandAteaches Hindiand Maths.

iv.  EandB teaches History and Punjabi.

Which teacher teaches maximum subjects among
them?

(1) A (2 B

@ C @4 D

Which teachers teach Maths and Hindi both
subjects?

(1) AandB 2)
(3)  CandD (4)

CandB
AandD

There are 39 students in class 8th. Rohit is on 18th
place from the top. On which place he is from the
bottom.

Wl eoNiI8 (2) 22

3) 32 4 19

If 1st January 2008 was Monday, then what day of
the week was 31st December 2008?

(1) Monday (2)  Wednesday

(3)  Tuesday (4)  Friday

Find the angle between the hands of the clock at
3:30.

(1) 40° 2) 30°

(3) 60° 4) 75
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31.

32.

33.

34.

Part- Il (SCHOLASTIC APTITUDE )

fa9 far fig = x fsgen »ix fAes T 3t fie 31.

8 rfas 93ar?
(1) ufohJatfes (2) gt Juet feg
(3) x-gI'3 (4) y-ggr3

WeusTad: (272+ 371+ 47171 32.

@ 2

“ 2

(1)
(3)

|
vilos u1|m

fe's™ fomrr Jiw sam faR AgS

¥ 1000 fefenragn 8 uAdter

Ja1 § T9A faTr T 131% 50 §

fonrs 5% 39 i3 UsT 79 X

I fofrmrt foo* feozT sgs Ao

I

1) ®®M3 U JaT § UFE I96
T fefanrggnt <t fas3t
fefenragnt S B a3t 3T |

2) HASITTUAT AITHE & IdI SIS J |

3) ®® Ja M3 BB I § UAE TI6 T
fefenrragint & faest g5 fefenraght €
e eI ue T |

4) B 39T i3 IIT 94T URE I96 % fefemmggim
fefenragnit &t o=t 3 TT T

fea s far mfos @ o ¢t Ue fex anAy 34,

feg ffa U<t o uoRs UguTeT HE ATElE®
'3 AET I IFY-T Y AN 3 Afg9 3° Gret gt I
f&3 a9e @9 TIATEL aEt T d9e =
niftiis I9 U™ &9 fx far nizas fSo 8r<t
9% A 3 fimrmer A2

1) FASI10IAI AT 11 =93

2) AIIRTH I HII 9N 3IA

3) HAII9IA I ASI 10 1 3

4) AJ I ufog 12e73x

I

n
'Tl: Pl
gu

]

12 .l
EID
B A

F

1 /"

H

JEEERT G T WERT L0 TR AET LI TR A 1T Sdfm

T 2

7

33.

If x-coordinate of a point is zero then this pointlies :

(1) Inthe1stquadrant (2)
(3)  Onx-axis (4)

Inthe 2nd quadrant
Ony-axis

Findthevalueof: (272 + 371+ 4-1)-1

-6 -5
(1) = (2) <

6 5
(3) 3 (4) 6

Given Pie chart depicts the
favourite colour of 1000
students of a school.
Observing the given pie
chart and find which of the
following statements is true:
1) Number of students
who like red colour and
yellow colour is more
than the total number of students who like green
colour and blue colour.

2) The mostliked colouris Blue.

3) Total number of students who like red colour and
blue colour is less than half of the total number of
students .

4)  Total number of students who like blue colour and
green colour are more than who like red colour and
yellow colour.

A postman cycles from a town to a neighbouring sub
urban area to deliver a parcel to a merchant. His
distance from the town at different times is shown in
the given graph. By observing the graph, find the
interval during which he rode fastest?

between 10amand 11am
between8amand 9am
between9amand 10 am
between 11 amand 12 noon

L=

Distance {in km)—>
FEES R EEEEEEE

9am 10am f1am 12 Noon

Time —>

o
o
=
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35.

36.

37.

38.

39.

40.

41.

42.

gre 3 fex fig & 3 40 Aidhiies w3 35t 3° 70
Fehies InfEs I3t fen fig <t Afst ot 9?2
(1) (70, 40) (2) (40, 70)

3) (NI (2) (4) feos G at st

IgS 3 120 JUT € fE€x are mi3 400 guT =
f&x &< ydifenr| GR3 AT S5 % BINS ¥
3 5% Tat 3 39 371 8FeT &% &9 A T3B!
Ut |

(1) S IIETTH (2) 183UE I

(3) 153uUe s 4) 143ueTST

fe3 oz fozg &g =fonr »ifaz g &t
yfSESsT Uzt I |

(1) 45%
(2) 33.34%
3) 35%
(4) 37.5%

HisT fEa Yifir f88° 28% nig yus a9t I
w3 12 Wit 5% IB I A I IeAS fem
Yifimr f$9° 40% nid yrus 9wt I M3 UR 3T
S FFT wiat 8 60 Wik frmimer yu3 9t
J1 yR I FE BFT it T SRS USTAS

(1) 30% (2) 33%
3) 35% 4) 37%
[100-300®€720% ] € 40% = -------
(1) o4 (2) 140

(3) 16 4) 20

U3 3 fex a9 udtes ¥ &t fan §x I
100000 JUE, 10% A& femma °3 €ug &2
e faforA A geer R 3T 1 AE M3 9
HOlG Enfs feo Gua usH TG T HET B &
faat gt = gars's A9aT fupnm?

(1) 182509u® () 1175009u

(3)  107509u¥  (4) 1267501 FuT

167 g vmurg 4 St w3 T gu fo fau

1) 4° 2) 47
3) 4 4)  4°
T fefumit f59° faoz™ aus B3 T?

(1) v g e fagerix (0,0) T5 |

(2) o fag fame x-foger vig fieg 9, w3y
feger vig fHeg &t 9, y-u9 I AfEs Jer I |

(3) ot fie famrer y-fogem wix fHes 9, mi3 x
feger vig freg &t 9, y-u9 I AfEs Jer I |

(4) fogem v (3,4) 3 (4,3) € 24-2 fag
TIAET IS |

8

35.

36.

37.

38.

39.

40.

41.

42,

How can we describe the position of a dot on a graph,
which is 40 cm from left edge and 70 cm from bottom
edge:

(1) (70,40) (2)  (40,70)

(3) Both(1)&(2) (4)  Noneofthese

Rahul bought a ball for Rs 120 and a bat for Rs 400. He
sold the ball at a profit of 5% and bat at a loss of 5%.
Find the total profit or loss.

Rs. 18 Profit
Rs.14 Loss

(1) NoProfitNoLoss  (2)
(3)  Rs.15 Profit (4)

In the given figure find the percentage of the shaded
region.

(1) 45%
(2)  33.34%
(3)  35%
@) 375%

Meena scored 28% marks in an exam and failed by 12
marks. Ranijit scored 40% marks in the same exam
and obtained 60 marks more than the required marks
to pass. Find the required pass percentage for this
exam.

(1) 30% (2) 33%
(3) 35% 4)  37%
40% of [100-20% 0f300]= -------
(1) 64 2) 140
(3) 16 4) 20

Parneet borrowed Rs. 100000 from a bank to buy a
car at the rate of 10% p.a. compounded yearly. What
amount will she pay at the end of 1 years and 9
months to clear the loan?

(1) Rs.118250 (2) Rs.117500
(3) Rs.110750 (4) Rs.1267501
write 16” in exponent form with base 4.

1) 4 2) 4

3 4 4) 4

Which of the following statements is false?

(1) The coordinates of the origin are (0,0).

(2) A point whose x-coordinate is zero and y-
coordinate is non zero, will lie on the y axis.

(3) A point whose y-coordinate is zero and x-
coordinate is non zero, will lie on the y- axis.

(4)  Coordinates (3,4) and (4,3) represents two
differentpoints.
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43.

44,

45.

46.

47.

48.

49.

50.

f&'x tud Ios T UART AT T U39S 4224 TIA
Aihiica 9 fer 3 fer dt Gudt e nigAI e X
33 Adhiica St &t fox nifesarg greg gt
AR T I nrfeserg geg erufoHu usT 39
(1) 322F3Hted  (2) 310 Achieg
(3) 302FAIHeT (4) 432RThileg

800 TI4T HicT ¥39eH ¥ fea nifesarg a3 &t
fiorst &t 160 we Hies ust &t =93 &=t arst
1 g3 fe g UEt T A3 < ot ot 3<ait?

(1) 0.2Htes (2) 0.02Hteg

(3) 0.25Heg (4) 0.15Hteg

fe's famir 3w samr fan gatesfct fe'e =u-
TH FUfgazs=t ¥ Uz J9 fefenraght =
fess TIATEr I 17T niedtal fefenagnt
= Aftm 1275 39 37 galeafret f&g uze

g*&sﬁﬁmna‘a"]nr’ré’rﬁﬁwa%l

(1) 9500 s SN
(2) 10000 | e <
(3) 10100 PN
(4) 10200 \.___j"‘
gost € gen 3 g9t 149,600,000,000m T
fer gt = fimr<t gu &t IRar?

(1) 1496X10"ed (2) 14.96X10"veq

(3)  149.6X10°HteT (4) 1496 X10°vteq

f&x Aged 50000 JUT 39 udifenr famr 8%
ASST Ot €9 &' feR € e fSo ot 7 argt ifew

A 8¢ AgEY T HB USTAS |
(1) 45000 9us 2) 46640 TUT
(3)  540009u¥ 4)  46000TUE

fex gaaee fEaeng e rifss is fereng @
ydte H&% 3° 10% <0 9@ T Jifeg 8g fem
TAZ 3 10% < feer I 1 gxse9 T &9 A st

ySEs usTaAS|

(1) FTFSMIFTITTE (2) 1% FF

(3) 1% Tt 4) 2% >3
faagor gggwT € fexgst v o=t &t gmar Bt
g3 © gt 34T &9 Afas st ger 97

(1) =3 2) €83%

(3) T()MI(2) (4) fegst T It adt
f&x nirfes fam @it gaet 3 Adhiica »3 4
Fhites 9= 3t Bre fexgs < st faat
Jait?

(1) 4RZhites (2) 1RZhites

(3) 7RIhHtes (4) S5HAIHeT

9

43.

44,

45,

46.

41.

48.

49,

50.

The lateral surface area of a hollow cylinder is
4224Cm’. It is cut along its height and formed a
rectangular sheet of width 33 cm. Find the perimeter
of therectangular sheet.

(1) 322cm (2)
(3) 302cm (4)

310cm
432cm

160 m’ of water is to be used to irrigate a rectangular
field whose area is 800 m’. What will be the height of
the water level in the field?

() 02m (2)
(3) 0.25m (4)

0.02m
0.15m

The following pie chart depicts the distribution of
students of different nationalities in a University. If
number of African students is 1275, find the total
number of students studying in the university.

9500 Amecien

10000 v
10100 " w
10200 O

The distance of the earth from sun is 149,600,000,000m.
The standard form this distanceis:

(1) 1.496X10"m (2)  14.96X10"m

(3)  149.6X10°m (4)  1496X10°m

= = = =

(1
(2
@3
(4

A scooter was bought at Rs. 50,000. Its value
depreciated at the rate of 8% per annum. Find its value

afterone year.
(1) Rs.45000 (2)  Rs.46640
(3)  Rs.54000 (4)  Rs.46000

A shopkeeper displays marked prices of an article
10% more than its actual cost price, then he gives 10%
discount on its marked price . Find his loss or profit

percentage.
(1) NoProfit, NoLoss (2)  1%loss
(3)  1%profit 4) 2% profit

Which are those polygons that have no any portion of
their diagonal in their exterior.
(1) Concave (2)
(3)  both(1)and(2) (4)

convex
None of these

What is the length of diagonals of a rectangle having
sides 3cmand4cm?

(1) 4cm (2)
(3) 7cm 4)

1cm
5cm
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51.

52.

53.

54.

55.

56.

57.

58.

f&x maggH T 99X niegal AT T HY UsT
&9, faAenrt 9 A=t =
(1) 120 (2)
(3) 40° (4)

105°
140°

ffx gaoud 8 QUE T 10 ni3 ydlEer I »3
10 JUT ¥ 8 nifsnit T forrg s 3 fder T
TABET T HI A TS YSHI UIT IS

(1) 563% I8t (2) 56;% &

1

(3) zzi%aﬂ?ﬁ (4) 22-%%F

A9 f&a W= ¥ 994 faa™9 § garsT atsT Ave 3t

wE T wfess s I Su ArRer?
(1) 23 (2) 4T
(3) 6T 4) 8=

Afdes 3 fex Arelas 575 9: fS9 udtfant mi3

125 JUE feret HIH3 'S yau i3 | fag 8F3

feg rretas 770 que & 39 &t 1BrAer &

7 TS yFEs usT &9
(1) 5% Jat

(3) 121 % &S

2) 10% &3
(4) 10% T&F

50,000 IUT &t I '3 1 IS Bt fHAfes o
UST I AT X fona 8% € w9 &% fardt a3er
32

(1) 50009u= 2)
(3) 55000 9uT (4)

4080 quT
54080 JuE

162 T99T HicT U39S § U™ 29 B 90 Fel Hied
AT TBM fdsrt Tgarare efest @ Ages
Uit ?

(1) 100 (2) 200

(3) 250 (4) 300

fox aar f<9 3 &8, 5 BT 3 4 AT Frer
I& |1 fer Far 89 ¥ are nigsx a=t Aidt I

AIesT UST 9 fa sl aret Sre ARE sdt I
(1) 5/12 (2) 1/4
(3) 273 4) 1/3
fost arst mitaes I =9
3x-2 2x+ 3_ 2
4 3 3 X
(1 2 (2) 5/2
3) 1 4) -1
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51.

52,

53.

54,

55.

56.

57.

58.

Find the measure of each interior angle of a regular
polygon of 9 sides.

(1) 120° (2)
(3) 40° (4)

105’
140°

A shopkeeper buys 10 eggs for Rs 8 and sells at 8 for
Rs 10. Find his gain or loss percentage.

(1) 56%% Loss  (2) 567 % profit

(3) 22%% Loss  (4) 22%%proﬁt

If each edge of a cube is doubled, then how many
times volume of cube be increased?

(1) 2times (2) 4times

(3)  6times (4)  8times

Surinder bought an old cycle for Rs 575 and spent
Rs 125 on its repair. Then he sold the cycle in Rs 770.
Find the loss or profit percentage.

(1) 5% Loss
(3) 127 % Profit

(2) 10% Profit
(4) 10% Loss

Find the compound interest on Rs 50000 for 1 Year,
when interest compounded at the rate of 8% half

yearly .
(1) Rs. 5000 (2) Rs.4080
(3)  Rs. 55000 (4)  Rs.54080

How many square tiles of side 90 cm are needed to
coverafloor of area 162 sqm.

(1) 100 2) 200
(3) 250 (4) 300

A bag contains 3 red balls, 5 black balls, and 4 white
balls. A ball is drawn at random from the bag. What is
the probability that the ball drawn is not white?

(1) 512 2) 14
(3 23 4 13
Solve the given equation:
3x-2 2x+3 _ 2

1 3 3
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59.

60.

61.

62.

63.

64.

65.

fex nifesarg use & gt w3 s3It =
ViZUT3 11: 4 1 feR use &t gradie<t a9 Bet
100 guT yIt Hieg &t T3 &% 75000 gUT =
T BT I IfER USE T u3Tes U I |

(1) 27500 FFdTHIET  (2) 2750 TIaT Hted
(3) 22500FFdTHIET (4) 30800 =JdT Hted

Felu T fusT St e ATlu §t BHe T 35 = 31
12 A% g€ Aoty ¥ fuzT €t @Ha 8r<t Bna &t
TaIEt Ifg Frednt | el € S93Hs e usT 9|
(1) 107A® (2) 12 A%
(3) 247 (4) 36 AT

ooooooooo

3| 7" €u duat & niur feg Ager 9 3t

g T figer T Ae fx ww 9 3w

g d | ferera9s I fa:

(1) Y94 € AHG Ud< & g1 & »iaaiHs
qIe TG |

(2) I € nAHS UGS & X g1 § MusaiHs
qI T3 |

(3) T894 ¥ AN U< & g1 & muxaiHs
qI TG |

(4) SuIas feg et adt

Hg ot He" © far e i fe'e g9 sfager

37

(1) wizam (2) iz foam =fost
(3) Tgeat (4) fHger

I3 ferdirt &9 faodt vios YSiRfeg e gu fe's
IS AT ?
(1) I&Is
(3) nifeGsts

(2) TS
(4) YMIAHES

3 NH GAT TAS »i9ds § <t gH I famrm)
8" T niftmux 3 =i fa I3 Ja1 a3
T I&5, B ¥ J41 ¢ I5| I fefmrt fo5°
faogTsarer SaTadt 97

J (2) FAUTS gAH

(1) Jar
(3) e 4) fa®z
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65.
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The ratio of the length and breadth of rectangular plot
is 11:4 the cost of fencing the plot at the rate of 100
rupees per metre is Rs. 75000 . Find the area of the
plot.

(1) 27500m’ 2)
(3)  22500m’ ()

2750m’
30800m’

Sandeep's father's age is thrice time Sandeep's age.
After 12 years Sandeep's father will be just twice his
son. Find the present age of Sandeep.

(1) 10years (2)  12years

(3) 24years (4)  36years

Rolling Friction is more than................
(1) Fluidfriction

(2)  Sliding friction

(3)  Staticfriction

(4)  Allofthe above.

Dilshad found two pieces of magnets from an old
speaker. When he join two pieces of the magnet
then the magnet attracts one pole of another
magnet but repels its another pole because:

(1)  Like poles of amagnetattracteach other.
(2)  Unlike poles ofamagnetrepel each other.
(3)  Like poles of amagnetrepel each other.
(4)  Noneofthe above

An embryo develops in which part in human
female reproductive system?

(1)  Ovary (2)  Fallopiantube

(3)  Uterus (4)  Stomach

Which of the following non-metal is used as
antibiotic ?

(1) Chlorine (2)
(3) lodine (4)

Bromine
Oxygen

Manpreet got infected from cold some days ago and
his friend Arjun also got infected today. Their teacher
told them that there are some diseases which get
transmitted from infected person to healthy person
and are called Communicable diseases. Which one
of the following is notacommunicable disease?

(1) Cholera (2)  Common cold

(3) TB. (4)  Goitre
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66.

gfies 3 SAeT g Uet feo 58 & Iftmrm) 66.

8r3 2funr fa SAZT =" THT It
Afamr | ferer 8fg3 ar9s ot d=ar ?

(1) yrst dfus At

(2) UTET EHAE A

(3) USTIHEIH (4) Ut 33TH

67.

Jo fafunit fo9 far 39 fe'9 Tgua=ass 67.

(Multiple Reflection) &1 ¥93° i3t A€t T2

(1) HEgAY

(3) ISBERIY
68. A®TEsyyugmarfey ?
(1)
(2)
(3)
(4) BuIaz A
69.

(1) Jdeax
(3) AEeUBHH

(2)

il

70.
Ay 9 fXos a9 At 99

(2) TIES
(4) Budaz A

68.
eI, A® BH, A% ue9g (AEcUsHH)

HEKE AT, It AT, ITEtaRH

(ATETCUSHH)

5 © fao3 gar foo foaa niarue A 95 | 69.
e 5%
(4) YSumH

MYT IS T T HEE S RS IS AG T 70.

(1) & A% HOH Yo" BT m3 I3 A% 349

YITH BE ASESHIS I I8 |

(2) J& A% »3 I35 A% ©6 39 YIH BT

ASToHI® I2 I& |

(3) d& A® M3 95 A% 6 HUH Yo'H &t

ASToHI® I2 I& |

(4) & A% 37 YH BT »3 95 A® HOH

YITH BE ASESHI®S JE I |

71. fo e fe g fe 3 s x T HUTR?

7.

40 faarat
60 f3arat

12

Rajinder inserted an electric tester into water. He
noticed that bulb of the tester does not glow. What
could be the most probable reason for this ?

(1) Waterwasimpure. (2) Waterwas Salty

(3) Waterwasdistilled (4) Waterwas chilled

In which one of the following devices, concept of
multiple reflectionis applicable?

(1) Microscope (2) Telescope

(3)  Kaleidoscope (4) Allofthe above

Write three main parts of the cell?

Nucleus, Plasma Membrane, Cytoplasm
CellWall, Nucleus, Cytoplasm
Mitochondria, Golgi Bodies, Ribosomes
Allofabove

==

(1
(2
€]
(4

Inwhich part of the cell, organelles are present?
(1) Nucleus (2)  PlasmaMembrane
(3) Cytoplasm (4) Protoplasm

Which of the following statement is correct

regarding cone cells and rod cells present in the

retinaofhumaneye?

(1)  Cone cells are sensitive to dim light and rod
cells are sensitive to bright light.

(2)  Cone cells and rod cells both are sensitive to
brightlight.

(3)  Cone cells and rod cells both are sensitive to
dimlight.

(4)  Cone cells are sensitive to bright light and rod
cells are sensitive to dim light.

What will be the angle x in the following diagram?

s = e
Plane
Mirror

Reflected
Rays

Incident
Rays

1
Perpendicular

(1) 50degree (2)
(3) 30degree (4)

40 degree
60 degree

WWW.meritorious.successadda.in



72.

73.

74.

75.

76.

77.

Infeeg 3 fo39 fe'9 feu® nigRa 37F Thorf 72.

Ewmﬁ?wf‘e—zﬂmm%ﬁéﬁzﬁ
5% 73 fa 3T v We g 8R% i fx

fe'q 379 T o® I9-318
Jar T oI 9= famr Aefx
TRt 39 oS nifiar
a9 FHIT9-31® oy TSt
319 eIt T faA coHss

s

&% A3t aret I_ai?

(1) USSH ZIHES
(2) foe=Ha c9Hta®
(3) USHR At fge3HS 2IHI S

O

(4) 379 fan & caHe® o'% g3 It &It A |

OIS ¥ M SUT &I ni3 33F <t Senit ughntt A5 | 73.

T5 | F13 3 fea oftmr fa Saz <t sSt e fSaE Inew
T a4t I Aefa & <t 39 fSaE I uA vew
pEE st feous e fosraiE w9

(1) ufex (2) SITEHIIT

(3) fudtetarsT (4) THIIT

niftrux & gfantt § T fx gunte 83 &2 74.

g2 75 fx fegst § 3ot »iY 5% &t Sfemr 7
AT Iniftmiux & g font § fe'x tise & Hee
5%, 2UF T uS o oSt q9T muHHlR
feu® |t 3t R WizT T 5T T A Aae 37
(1) Wy puHegHt (2) fis 3® dHar
(3) TJITIH (4) fomdtegdHt

Yoo ffg ug ffa 33§ iidt s S dua 75.

W%mﬁamhfmmw
I 3 WHET @ 3 Sfr fx feg B T3 3138
faftmit feo* fagftus gt essfeasma

Thmraer 37
(1) & (2) gt
(3) FASMiH (4) aug

Jot &3 fozg fog varmet fafanr = & 76.

TR?

(1) yuddreE

(2) forgs

(3) BIGar

(4) e
ufgeasas

niforiux 3 A3 feg effr fa g3 #ie fig 77.

Tt dfenrt § AeH & g5 »i3 I iz ST 751
3 BT TH AT @ I ot feg faoFt

Segez At &t T
(1) feusEt (2) It
(3) fost (4) ¥s
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Kulwinder inserted open ends of two copper wire
into the Potato and attach other ends to the battery.
He noticed a green-blue spot at the point of insertion
around one end of wire while

there was no spot seen =
where second wire was

inserted. Can you guess the

terminal of the battery, to

which the wire with green-
blue spotis connected? @

1) Positive terminal

2)  Negative terminal

3)  Positive orNegative terminal

4)  Wireisnotattached to any terminal

Wooden and Iron boxes were placed on Sunita's table.
Both the boxes fell down when touched. Sunita found
that wooden box does not made any sound when
dropped but a special sound is heard when Iron box is
dropped. Which property of metals does it show?

(1) Sonority (2)  Malleability
(3)  Ductility (4)  Conductivity

Teacher taught the students that microorganisms are
so tiny that they cannot be seen with the naked eye.
The teacher showed microorganisms moving in
pond water with the help of an instrument. Can you
suggest the name of that instrument?

(1) Compound Microscope

(2)  Pinhole camera

(3)  Telescope

(4)  Electroscope

Pooja saw an element dipped in kerosene oil in the
laboratory and asked her teacher about it. The
teacher told that it is a metal. Which metal is stored
under kerosene?

(1) lron (2)  Silver
(3)  Sodium (4)  Copper

Name the process shown in the following diagram.

(1)  Pollination

(2)  Fertilization

(3)  Cloning

(4)  Metamorphism

The teacher told the students in the class that
some organisms give birth to young ones while
some lay eggs. Which of the following animals do
notlay eggs?

(1)  Lizard (2) Hen

(3)  Sparrow (4) Buffalo

WWW.meritorious.successadda.in



78.

79.

80.

81.

82.

83.

et fxar ‘8 = & ot

37

(1) A®EH (2) JEIA
(3) AT (4) BT

wigst &t nieH HITE &% UsH get I fa8fx

vig3t & 7§ Sef @ STE Hae I

(1) fommer

(2) gJd=ggd

(3) e & BFE T uieH € U3 g9 I f€ I
It AEY &t

(4) we

IBST 3 I § ofmr fa e 3 I
AYHTEIH &% It It 77 AKET T, St miy
5% a4t | U9 99 Bre fen xus 5% Afons
&dt /| g 9% »rud A= € unet BE fan

% <t @urogs fet I A=t 32

(1) a3tEs (2) 9% T ftEB A
(3) T (4) HIIHIAE Vi3
ggE A I?

() feafAzsges (2) HeE g@aHa

(3) GdHd (4) 39 GIHA

IHE 3 IHHS T 3T AEES & yRAT
FIfentt faor fx ArEla® v 3% 993 THaES
31 IS 3 faor fx fere 35w § war <t adt
BATT| 3T WSHAT AEE® © 9358 3 fam

UTTIH T HSHT 13T famrr 32
(1) FIHMH (2) 3t
(3) BT (4) fAA3

goeiy 3 e fx GRer S8t M3 fe'w uger
3TE} JIHIS H'ST Hl § TU § A'aT HANGT IT 7
fors & 2y foor At g9H3 I97s At fx &7
frgr 71 A9 T g =4t o9 fa=” g e=am)
IJIety 3 8RS AHSTTENT fX nifrre /ot fo'e Fige
ierenit I35 Ifemr ot IRt feast fiergntt &
ST THAIE I?

(1) TEtagH (2) SBICTHIBH
(3) uHg (4) HEESITTIH
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80.
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83.

The teacher showed the
slide of Epithelial cell of
Cheek to Hardeep and
asked him to label 'A'.
Whatis the name of ‘A’

Nucleus
CellWall

(1)  Cellmembrane (2)
(3)  Cytoplasm (4)

Sound of women is shriller than sound of men

because length of vocal cords inwomenis ..............

than that of males.

(1) Greater

(2) Equal

(3)  Length of vocal cords has nothing to do with
shrillness of sound

(4)  Smaller

Kulveer told Raju that cells can only be seen with the
help of Microscope and not with naked eye. Raju was
not completely satisfied with his view. What example
Raju gave to justify his view?

(1) NerveCell (2) Epithelial cell of cheek
(3) Amoeba (4) Ostrichegg

Whatis Foetus?
(1) Welldeveloped embryo

(2) Femalegamete
(3)  Zygote
(4) Malegamete

While praising new bicycle of Rambir, Rajdeep said
that handle of the bicycle was too shiny. Rambir said
that its handle does not even corrode. According to
you, Handle of the bicycle is electroplated with which
material?

(1) Chromium (2)
(3) lron (4)

Hardeep saw that his brother Harjeet who is studying in
fourth standard was observing carefully that mother was
adding some curd in milk. Harjit was surprised that how a
small quantity of curd could convert whole of milk into
curd. Hardeep explained him that some bacteria were
responsible for this change. Can you suggest the name of
such bacterias?

(1) Rhizobium (2
(3)  Yeast 4)

Copper
Zinc

Lactobacillus
Micobacterium
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89.
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91.

i 3 AT 21L& B A3 St awSt s EA T 84.

gig 2.3 ¥ Aadts % Sa aet 8 3
o fa 3.3, St Aadls 3 Brdt o e @
fue 8 w3 fea gwat fadt niem niregt
wifrar fa@* 3fewr 2

(1) AITS I IS IS |

(2) FITTH I

(3) FUIX I IIA |

(4) RS AfET farss! 9% a9d |

-

e TY-TH U790 T8 g% MUA feg 85.

fise gs 3Tt gurd ?
(1) <9ur

(2) feBagrentt

(3) fonsst ferans
(4) fomsstriuues

gl & ygs3T v feargt St 92 86.
(1) TJded (2) UHI®
(3) SHES (4) fogew

fs€admm »i3 s f5at T fesao Adt <9ar 8.

yT9E § & fagrAfer 37
(1) feGa@mm iy (2) AfeeusmH
(3) UUSHH (4) feast feo et 5t

nisTg T feare fegger 3l 88.
(1 U3 (2) d9-feedt

(3) nizam (4) fegst &8 3t &t

YIH € faR Tous € AST 5% 297 & TUA 89.
Ha6 € fafonr g ot afde 767

(1) YdH T MULIZS
(2) YJIH T UI I3
(3) yaH e s

(4) BuIFs &5 et adt

A TS HUS TS HIT TS TH? 90.
(1) FIHtea (2) AUdGGHIET
(3) WIGTHHteT (4) WigHtea
faot Aears ufgegssrim get 972 91,
(1) 3IoHT (2) BI33dt
(3) A3 (4) Budaz A
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While starting T.V., Ajay noticed that hairs from his
arm get attracted towards the T.V screen,
producing a low crackling sound. Why this
happened?

1 Due to production of current from the screen.
Due to Hairs of the arm.

Due to Contact forces

Due to non-contactelectro-static attractions

AA,_\
N
==

=

What happens when opposite charged clouds
make contact ?

(1) Rain

(2)  Electroscope

(3)  ElectricEmission
(4)  Electrolysis

Whatis the unit of intensity of sound?
(1) Hertz (2) Pascal
(3)  Decibel (4) Newton

What is the jelly like substance between the
nucleus and the cellmembrane called?

(1) NuclearSap (2) Cytoplasm

(3)  Protoplasm (4) None of These
Eggs are formedinthe

(1)  Testis (2) Penis

(3)  Ovary (4) None of these

Name the phenomenon when light bounces back
after striking on the surface of mirror.

(1) Refraction of light

2)  Reflectionoflight

3)  Scattering of light

4)  None of above

P

Name the instrument by which speed of air
measures ?

(1)  Barometer (2)  Sphygnometer
(3)  Anemometer (4)  Aerometer
Which government is adaptable to change?
(1)  Dictatorial (2)  Democratic
(3)  Feudalist (4)  Allofthe above
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¥ AT&T T ATST AHIH §%'8< ©f Aast far a®
gera?

(1) THIUIT
(3) fez¥zdt

(2) yus W3t
(4) Wawsdt

T wiAt vifaers yus J9&T gge I1, 3T A
wEl Io fofimit {9 (Sgt & use q96T 7gat 32
(1) AH&3T=T (2) FI3<tET

(3) TIHET 4) fegst g agt adt

HE3 ni3 aHt Hed! fAfunr far 8He agy
T gfont g festAiEt 97

(1) 11-147% (2) 4-157%

(3) 6-18 7 (4) 6-147%

93 T Ufgd THEIUF A= AG?
(1) 3. 3IMeIyre

(2) Ufs3 A<99 B &fad

(3) H IHeE JfeT

(4) H nfEes q&H

=T g= fapr?
(1) 26782911930 (2) 26 AG=IT 1940
(3) 26AK=IIT 1950 (4) 26 AG=IT 1960

HIT3HT Jridt enraT 1920 & fev faozr
NIeBs THTENT famm A2

(1) a-TH®=I36 niess

(2) fAe® aT-gaHmat

(3) FIIEI WEHS

(4) 3FtHIO

T YISt T AEUST e 1=t arEt?
(1) 1902 &t. (2) 1913 &t .
(3) 1885 &t. (4) 1905 .

‘EATs 3793 AT © AEST fagt gnraT dist
arst?

(1) a3 fiwr (2) IHII

(3) ST II& T (4) Budas AT
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Who has the power to call the joint session of the
Parliament?

(1) President 2)
(3)  FinanceMinister  (4)

Prime Minister
Chief Minister

If we want to receive rights, which of the following
must we follow?

(1) Equality (2)  Duties

(3)  Religion (4)  Noneofthese

Which age group of children is included in Free and
Compulsory Education?

(1) 1M-14years (2)
(3) 6-18years (4)

4-15years
6-14 years

Who was the first President of India?

(1)  Dr.Rajindra Prasad

(2)  PanditJawaharLal Nehru
(3)  Sh.RamNathKovind

(4)  Sh. AbdulKalam

When did India become a complete independent,
sovereign, democratic republic?
(1)  26January 1930 (2)
(3)  26January 1950 (4)

26 January 1940
26 January 1960

In 1920 AD, which movement was launched by
Mahatma Gandhi in India?

(1) Non-cooperation movement

(2)  Civildisobedience

(3)  QuitIndiaMovement

(4)  DandiMarch

When was Ghadar Party formed?

(1) 1902AD. (2) 1913AD.
(3)  1885AD. (4) 1905AD.

Who founded "Naujwan Bharat Sabha"?
(1)  BhagatSingh

(2) Rajguru

(3)  Bhagwati CharanVohra

(4)  Allofthe above
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Which system of administration was abolished in
Bengal in 1772 AD, which established direct rule of
the British East India Company in Bengal and this

further enhanced the company's prominence?
(1)  Dual Administration System

(2)  SubsidiaryAlliance

(3)  Doctrine of Lapse

(4)  Single Administration System.

Who gave the slogan "Delhi chalo"?
(1) Subash ChandraBose

(2)  Mahatma Gandhi

(3)  ShaheedBhagat Singh

(4)  JawaharLalNehru

This battle was fought between the armies of Siraj-
ud-Daulah and Robert Clive, is also known as the
Battle of Plassey. When did this battle take place?

(1) 1757AD. (2) 1857AD.
(3)  1764AD. (4) 1784AD.

Navjot's grandfather tells him that some natural
resources are depleting very fast and they will not
be regained. What natural resources does Navjot's
grandfather talk about?

(1)
(3)

Petroleum
Water

Solar Energy
Soil resources

(2)
(4)

It is a country where earthquakes occur frequently.
Despite the scarcity of resources, the country has
made great progress. Which country is this?

(1) (2)
(3) (4)

America
Burma

Japan
Australia

Due to its colour and brightness, it is an attractive
and expensive metal. People have been fond of
wearing jewellery and other ornaments made from
this metal. Which metal is this?
(1) Gold (2)
(3)  Silver (4)

What type of soil is found in the area shown in the
givenmap?

Copper
Brass

Black soil
Laterite soil
Red soil
Alluvial soil
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107. 3At AfIn & MUE W A7 AGS © MiH-oS

Tftmr FRer i3 IT TH-F¢ A UF-Ue nuE miy
SauT s feo far fam <t gorut 3897

(1) yIgst geAust

(2) eIt FEAUST

(3) UIsIT g&AUST

(4) fegstfeo ast adt

108. A W, fAdinrt i3 d9-Aeges nirfe fa &

YUz ge 957
(1) ¥d% (2) AHed
(3) T3 (4) feat fe5 et adt

109. 95 IHAES famm| R 3 €7 Bftmr fa Ut

110.

111.

112.

Adl 5% Jof AHis fog 9o 7w I wis f&F
fimer st &t Ages @Mt @Rst adt
Sarethnit AT 51 TR fx IwAEs fe9
faodt famn €t firdt ugt Aiet 92

(1) Scaete et

(2) HgEs et

(3) HIS »3 ISt HET

(4) @

feSsgsTsan g R aIB I AE® ‘IAT S
g fagzr ufsw
fimer 37

(1) &
(2) ®&aIr
(3) Fa
(4) FEISIA

1498 ERS § Aiedt I3 I3 oo awiae
fer ugus T ufgw YI3arat U3 = A?
(1) THI-Z-IMHT (2) HIAEsTH

(3) IS IUB (4) feat e gt adt

“YHY niaToHT &% € A9 &dt I ¥ ITde If,
niFt 393 fe'9 »uSt AIae gde O’ feg
Hoe foaA g9 &9 a8 AS ?

(1) % FAUI IE

(2) I digrug 35

(3) feus Sequs

(4) HJT3HT It

18

107.

108.

109.

110.

11.

You all must have seen around your home or school
that some flowers or plants grow on their own. What
kind of vegetation is this?

(1)
2
(
(

Mountainous vegetation
) Natural vegetation

3)  Deciduous vegetation
4)  Noneofthese

From where do we get pearls, oysters and
diamonds?

(1)  Forests
(3)  Mountains

Seas
None of these

(2)
(4)

Rohan went to Rajasthan. He noticed there that the
water goes down to the ground quickly. The crops
that need more water could not be grown there. What
type of soil is found in Rajasthan?

) Laterite soil

) Desertsoil

) Forestand Mountainous soil
) Blacksoil

In the given map of India, which mineral is mostly
found in the shaded
region?

Coal
Iron
Gold
Natural gas

Name the first Portuguese Captain who reached
Calicut, inIndiaon 1498 AD by sea route?

(1)  Vasco-de-Gama (2) Megasthenes

(3)  LordDupleix (4) Noneofthese

112. Who said these words, "We do not want to maintain

relations with the Britishers. We want our own
governmentin India"?

) LalalLajpatRai

) BalGangadhar Tilak
) Vipin Chander Pal

) Mahatma Gandhi.
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113.

114.

115.

116.

117.

118.

119.

120.

1832 St fe'g dars o9 foni-yzat <t
AEUST far & sist?

(1) »I8 TIGSSA

(2) »I3 fedniH §féx

(3) ®93 3HBIAT

(4) Budxs fe5° It adt

‘SuUr T S XA TnraT niuETE arEt?
(1) BISIBAS

(2) ITgIC ABER

(3) BI3 IHIAT

(4) I8 ITIGSTTBA

A&7

(1) erfegfAttmreyradisTa<|

(2) Femfsar »i3 feosufear § &g gn 3°
TYABTAR

(3) AFTE3 I3 AR ygg W I3 A |

(4) Budaz A9

nifaarat &t 8BweT 3T ‘3 fonSt fan <t v
S AT I?

(1) Foaufssr  (2) feusufsar
(3) fonwfufssr  (4) Budas feg et adt |
‘THIF TS’ FE gEEm famir?
(1) 1961 A=t (2) 1965 AT
(3) 1960 SRSt (4) 1975 AT

NEHIT T ASS 13T famr T2
(1) <ed et

(2) <eHCd nEH3T

(3) B MTHIT

(4) BUIIZ AT |

I3 fofimit fo'9* faas sgs AT 32

(®) AUs IEISI T III TSI TS|

() HE U YU nU fe e Ag S TSTAUS J|
(1) (B)n3 () ATt T |

(2) )3 () IHI TS|

(3) (B)AIT»3 (n) TB3 T |

(4) (B)I®3I N3 (n) ATT T |

fam ens § foer Ao <t fagrAfeT 37
(1) g (2) T<B
(3) Heff (4) I
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113.

114.

115.

116.

17.

118.

119.

120.

Who established the jury system in Bengal in 1832
AD?
(1)

(2)
(3)
(4)

Lord Cornwallis
Lord William Bentick
Lord Dalhousie
None of the above

Who adopted the "The Doctrine of Lapse™?

(1) Lord Welleselly
(2)  RobertClive

(3)  LordDalhousie
(4)  Lord Cornwallis

Which were the main demands of the Indian National
Congress?

To spread education in the country

To separate the executive from legislature

To reduce the expenditure being spent on military
All of the above

= —

(1
(2
]
(4

Whom can we approach in case of violation of our
rights?

(1)
()

Executive
Judiciary

(2)
(4)

Legislature
None of the above

When did the 'Dowry Prohibition Act' came into
force?
(1)
©)

1961 AD
1960AD

1965AD
1975AD

(2)
(4)

For the purpose of giving cheap and speedy justice,
which types of courts are organized?

(1) Civilcourts

(2)  Criminal courts
(3) Lok Adalats
(4)  Alloftheabove

Which of the following statements is true?
Resources are a great gift of nature.
B.  Manhimselfis the biggest resource.

Aand B are correct

AandB are incorrect.
Aistrue and Bis false
Aisfalseand Bistrue.

Which crop is also known as white gold?
(1)  Cotton (2) Rice
(3) Maize (4) Millet
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fogem : T fe T UTT Uz & (YRS 3: 121-130) yRst T €839 fe6 :

F5t T HEST gUUs © dfdee e g Hg dur JImus R He €3 oS mem Ag smE a3
HI9 T9ar 3H 88 95| fEa-fEa Hag g mirt grrat fifant {9 28T 38 miyd ued g g9 of Ifer
e fiE ATST g9us Hif3nr Jer I 8T 'f Haat €1 u's It I i3 ASt nilet fer €3 fagsa ae<t T
5! &7 fAge aHet € It 9, Ffea fifedlt © gAst »is et e e O feg Ars aufent g St feso &
ASMTS T gU T fEet T 1 IE 8 I3 nifsaradt 57 a9 | feg gg3 Hideft feams 31 7=t feg yAsa
ug & aHfenr feg uwer ged S AE féer I for ot 3t wiilnet, 8rs=t, HfowTst, Jerfen,
gaefonrt, Hafanr, fe@urdnit 3 fE5-185 yaa & AHTS S9 fent 3° rae g 3 ASS | 79 fes
feg Srshut, firnra, geaTaht, aitst, I, Tpnrt- orfmrt &t €83 »ifa T, 3T aEt Aghnt U8
BeHT O E5-8< 3 996 IE 541 IfT AT | §Ht It TRt T X BT T 3 &t I8 iU gEfENr I

WiAS o §H HEY T w3 B fiF39 T 1 99Us T AHT A3 »iS gR U 578 S S8t I M3t de I

121.

122.

123.

124.

125.

9t fam 3° 5t firdt 77 At 2
(1) Hium 3 (2) feQudhnts
(3) deTfont3 (4) fHfan 3

et S vy T A 3° 37 HaoT fXaa7 37

(1) ggus (2) 7AT®

(3) FH (4) geEur
sedtElgs-g8s 3 .. g get I

(1) =9Us (2) FITE

(3) Baz=t (4)  MT3HT

Fous feg HaHt v €3 ot fazfanr Aler 92
(1) fumrg (2) @A

(3) dit3 (4) TR

'"gITfont FEE T NFE J:-
(1) TTITI&TH  (2) TIIAIATH
(3) UHTEET®  (4) TUIGETTH

20

126.

127.

128.

129.

130.

'BSH' HET T ANTGTIER HYT J:—

¥

g
fenias

(1) nigg (2)
(3) HIT (4)
'g=-g<' AT &9 faos ferew 83 gt =3
I T?

(1) =fidtsm (2) 3w

(3) #3ar (4) 33t
TS HEE T .. CcEck]
(1) T9Us (2) F=U
(3) M3H (4) FIgSt

'gous' e fan farH er st 39
(1) MH&=e (2) YHSET
(3) FeTTASE (4) fedsTTA BT

'EBE TH 3 St I U FTfENr ' T

&% faagT feramH fog Sarar?
(1) 35t (2) fat-amr
(3) YHETHA (4) ferfHa fdg
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Direction : Read the passage given below and answer the questions (Q. No. 131-135)

Prafulla Chandra Ray was born on 2 August, 1861 in the district of Jessore now in Bangladesh, close to the
birth place of Madhusudan Dutt, widely regarded as the 'Milton of Bengal'. It was the best of times and the worst, the
British had by now perfected their role as masters and British values permitted the Indian upper classes to the very
last detail like table manners. That, of course, was not the worst of the British influence. What was far more
demeaning to the educated Indians - was the fact that senior government positions were closed to them. Being
forfeited of one's right in one's land to birth would become the rallying point for the Indian intelligentsia in the years
to come. Ray's father Harish Chandra Ray, a man of learning and taste was closely associated with the cultural and
intellectual leaders of the time and exerted great influence on his son. Ray had his early schooling in the village
school founded by his father but soon his father shifted to Calcutta and at the age of nine, little Prafulla set eyes for
the first time, on the bustling city that would be his home for many years to come. He was filled with wonder at the
ever-changing sights and sounds of the city. His formal schooling was interrupted due to iliness but that did not
affect his education.

131. The word 'demeaning' means. 136. Choose the correct punctuated sentence.
(1) upgrading (2) respectful (1) this is my mother's office where she comes to
(3) insulting (4) admiring work everyday _
(2) This is my mothers office where "she comes to
132. Intelligentsia here means : work everyday".
(1) upperclass (3) This is my mother's office where she comes to
2 intellectual o dered work everyday
(2) !n ef ,ec uals cons .ere asagroup. (4) This is my mother's office, where she comes to
(3) individuals ofasociety. work everyday
(4) natives of Bengal.
137. ldo not play cricket. (Change into present perfect
133. Whois considered as 'Milton of Bengal'? tense)
(1) Harish ChandraRay (1) Ihave notplayed cricket.
(2) PrafullaChandraRay (2) Ididnotplay cricket.
(3) Madhusudan Dutt (3) Iwillnot plgy cricket.
(4) Jasoore (4) Iplayed cricket.

138. My father is____ SDO in the electricity board.

134. Who was associated with the cultural and (Choose the correct determiner from the

intellectual leaders of the time?

(1) PrafullaChandraRay :;))Ilo;vmg) (2) an

(2) Madhusudan Dutt (3) the (4) some

(3) Harish Chandra Ray

(4) Jessore 139. "You did a great job!" Choose the correct type of
Sentence.

135. How old was Prafulla when he visited the city for (1) Optative Sentence

the firsttime? (2) Interrogative Sentence

(1) seven (2) eight (3) Imperative Sentence

(3) nine (4) ten (4) Exclamatory Sentence

140. Narinder works hard _____ his brother is lazy.

(Choose the correct conjunction)
(1) as (2) where as
(3) so (4) although

21
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141

142.

143.

144.

145.

146.

147.

afsd e &1 A gaigardl fadeu
g |

1) s 2) faweh

3)  TEBAl 4)  STHA B T
‘A’ 2e] BT AT 372f g |

1) #feed 2) Sy

3)  d8 4) 1 fadmen wE

HYTS' ¥eq HT Aol SIferT g+ |

1) |Ee 2)  |HrEl
3) HreHl 4) X
qfer 2o ®T WL dgaad g |
1) Hfoat 2) wdrf
3) AT 4) e

o=t fag 1q wregl 9 9 GET Wk g |

1) BRI 2) fUSRr

3) dR-dR 4) W

I faq ¢ 2resl H 9 g s g |
1) TaemHar 2)  fquHar

3) fa|war 4) @

aR=a’ g &1 )l fagwur faweu
g |

1) uRfFEd
3) uR=ad

afR=mRe
BUREIIRED

2)
4)

22

fader : ffafaa vener & geax g w1
Jgddfcud Ul (U o 148—150) D IR
<IfoTg—

148.

149.

150.

$%qX HT aXGTH © |1,

a9 Redl & 7@ 2 A7 |
519 Sfia+ &7 uTe veTd) i,
GEREGIEE RS T

i g HI<—471 UTS YTl 27

1) Siad &r
2) =@t
3) TR BI
4) I B

gene § feEa ol &1 A fear T
2?

1) #HiD

2) TR D

3) fohae®

4) Paxd b

&fq 77 I frgdT R e B 27
1) 9T Bl

2) TR DI

3) Y-l HIAT Bl

4) 3 fuar &1
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